EASY TCAS

A-Level NTUILAKA




*t A-Level NWLAKA égvg,

1.AAwA
2.bansad
3.Kann1saunun
4.a1S91U

@ 5.3USSSU




ALKJoULa:AIaSLUIN ﬂ

AWIVLFIVAMIVAIIUKUNY

o — -
ﬂ—] ﬂW n Ua:AKaA1gAIIVKUIY

AMSKIAWN

ndAINAUWUSAU

MSKIAWNNLKUN:TU



o1 Al

b
R
>
[0

ALKIaAULLAZANRSI2INU

1. L= 2 22 =8 2AS D2HAIL.
oI5t AR HEZ EUNIA 2MHS.

1) ®0IQ )y ==2ahe

2) Ol OH3H 2 4) =R

2. U= & 220 BHEI= S D2YAIR
ZOL Ol CHYS,

1) M=ol R 3) SN

2) Xt | 4)BOIR

ANNDILALINIIAMUUUNE HAZANVANLAIINUUNE

3) LAUSAUES DA
O S ( ).
Lt: 2XE ( )
Ch: HII D ( )
1) =Lt 3) 2t
2) MLt 4) =Lt



o
0[0

(
(

v ol
e

Lt+Ol
d

Lt
Ct:

1) LtCH
2) &}

3) & [}
4) B

ATUIANN

DEYAL.

ofn
=

2

03

5) 2t A Dt

=
ol

<D <D
i =

ol
ol ol

o ol

od Mo
ol ol

— (N

ASUNANVIT LN/

<0
|
B

ol
A%
0l
oK

-

ol

)2/2 ELICH

A
4) A X

3) i

0 &D
Uk <k

N N

— N



® *

byasal

N AN

Ve



=
OH
{10
3]
1l

OH

= UEHANL.

0lJ
oK
oll

-

KO

o
3
Kl
ol
o0

10

<0
o}

i
[0

Ol

[
—

(tH Ot Ct
1

F

S
=
¢}

3)
4)

OFLI et

= NEHAL.

Ui

jild
Dk

K]

Kl
oll

1) M}

He.

1o

~

Ct O BIMCH

iy
1

HOF Il

D]

4) Hl



&y
@ KIATAIUKSDA100U

Hé-ﬂ ﬂ"]S K1A10auURAQ
dunun

N AN

lU.’.—iameyUs:Igm'j
awasatsunuaula

le

so~XK7

-



=
0K
{10
3]
1l
e}

He.

LE: Ul &

It

of

=
<l

<1

<1

AN

of
iy

kil

oJ

<l

—_

oJ

od

o3
oll
<l
oF

™

|2,

d
HOENE?

—

4 O

O
o
[

Ot 20 2.

=
=

=R, 7Al

|.
CHl

=
VN

L

?7&€=0|

ph

=M.

K
0

0

E

Ol <
2

| —

2) OtLI R, 6AI0 J1CHE Oll<toll =AMl 2.

) 22 2 A
3) 219 7AI002}

1) ul, 2

4
Jb: 6AI0I A AL OO0l Dt SSHIIR?5

Lt: 6Al Ol

Jt:



0l
0[0

t= 2 Ot THOIRUOH.

=HZ 0HJIo

=t

It 4 2f

N
Ol
{1

1o

oll

KH

pun

]
1o

O
=z

=
1o

4D

<A

r
I9)

=10

0o
Al
ol

{ID
&)

1o

ol

<~

ol
{ID

1o

ol
N

™



® *

A1SO1U

ls

Jo~XT

-

aaunuazluvan

anuwinlunisaiu

astisgvarquls:lon



LZAPN

3

—

1 0Olele

|
-

o
=A

.

N X R _
M= O = W =
e :
= 3 - R
= e J <
o) %I — = 30 Ul
80 o K = 0| o
ol o~ O W Kk <H O
m 5 = o« ®  of
I qp UM Mu K . o Kk
DRz DA =g o W =
Sy gy X ow D =
< Ul ~= <3 g =g s
N Xs=x s M o pwe ol

o will < _ < K
W 0 < oJ H
= — -, 0 Mr OH
< < o = B W o=
— m _JI = _HMO 1o
= M_w . < oY 0 < o
o B R A

K J 33 S _
)~ Al = B =M <
S mp &5 o o o ™
o B B o = m
oo <k = o ol 20 = =
Ou_ o :|_|_ ﬂ_.—_ by _ - - —_
— T _ ol 30 00 ol K< 0 1oy
=295 w5 L% mw®
6 = W & = - : ol 00 R —~
T M0 A R - o N Uk W B - o
ol o 0§ & < K X &



SO0A EHOILE S IJF &L

HE=S W Ot

| —

—

1.2 =0l
00 OFF U

[}

21

o)

0l
iy

oln
1)

-
1o

10

o
—

LHOT O A

=FIE

J

o

A

I9)
[0
=
ol
<

10

Ch. =, Jtd 830l 0 H

Hil=

10
Bl

o
uln

:A
ol

o g
10
ol

B

=2
Kiio

T

(m]

0
o3
<

-

<

OF
LA

puy

(m]

16}
ot
H
ol
&0
UlJ
o0

Ot=M Ll

3

__o;
I+

1]
mJ

Kl
il

10

Ot=M Ll

—
—

j

OF==0H L

0K

| OF SLRALE.

= J|3

=

=

2) Listds0ll Al g

3) Oleholl =0l

-
110

Lt 5t

4) I}



Ct. AL

oll

-
1o

KIo

0l

o

J0

-

KO
DF

53
Ul
o[y
KH0

J0

-

K0
il

-
1O

1]
<
2
m
Jn

fir

Bl

H 20l 2?22t

| —

—

}

]

Al A el

24

2= 0l

IR

=
[a—

Ol A LEOIIH

F

ol
AL

=
=

F

=2
=]

At

Ct.

o3
o3

oK
B

(]

(o))
ol
A
<0
RO

4

| 2] &0l A

10y

N\,

i)

=)

o

130 Bt=2 2,

HOl2. JHALIDE A AGHT

AH 21

(a=)

JI

SUANK"ct= 20l

Ct

1) A2}
2) SHYEC
I

4) M

ol
[
-
R

K
ol

2) Lol ©o| O H 2QICt

Jb G &L

K
B

0l
Rr






